6609, SOLUTION, SSC CHSL

Ques 1. ANS (A) Solution:

The correct answer is 'studying'.

A preposition is a word that shows direction (a letter to
you), location (at the door), or time (by noon), or that
introduces an object (a basket of apples).

Prepositions are typically followed by an object, which
can be a noun (noon) or a gerund acting as a houn
(falling), a noun phrase (the door), or a pronoun (you).
Let's look at the examples given below:

| have been waiting for you since 2014. (preposition
followed by a pronoun)

He was excited about going to a hill station. (preposition
followed by a gerund)

In the given sentence, the preposition 'about’ must be
followed by a noun, pronoun, or gerund.

Of the given options, we find that the gerund 'studying’
is the most suited for the first blank.

The rest of the options are various verb forms.

Ques 2. ANS (D) Solution:

The correct answer is 'want'.

The simple present tense is used when an action is
happening right now, to state or ask about things in
general, or when it happens regularly or unceasingly.
The structure is given below:

Subject + V1 + object.

The verb will take 's/es" if the given noun/pronoun (3rd
person) is singular.

Example: He plays badminton daily.

Since the given sentence is in the present tense (as
indicated by the earlier verbs), the plural verb 'want' will
be used in the second blank as per the plural noun
'people’.

Ques 3. ANS (C) Solution:

The correct answer is 'these'.

The pronouns that connect a clause or phrase to a noun
or a pronoun, is called a relative pronoun.

A demonstrative pronoun represents a thing or things.
The most common demonstrative pronouns are:

this, that, these, those.

‘This/that" are used with singular countable nouns and
'these/those' are used with plural countable nouns.
Example:

This is my bag.

Those were the days!

Since the patterns of habits (which is a plural countable
noun) have already been discussed in the cloze test
before, the demonstrative pronoun 'these’ will be the
correct choice in the third blank.

Ques 4. ANS (A) Solution:

The correct answer is 'must’.

An auxiliary verb is a verb that adds functional or
grammatical meaning to the clause in which it occurs, so

as to express tense, aspect, modality, voice, emphasis,
etc.

A modal or a modal auxiliary is a word such as 'can’ or
'would" which is used with the main verb (the 1st form of
the verb) to express ideas such as possibility, intention,
or necessity.

Example:

| have taken my breakfast. (have- auxiliary verb)

One should obey one's elders. (should- modal)

The former part of the given sentence talks about the
scientists discovering the mechanism of patterns and the
latter part talks about them certainly finding a recipe for
rapid change.

In the given condition, the modal verb 'must’ will be
used in the fourth blank of the cloze test as it provides
the required conclusive tone.

Ques 5. ANS (C) Solution:

The correct answer is 'were'.

Conditional sentences are statements discussing known
factors or hypothetical situations and their
consequences.

One of the structures is mentioned below:

This particular type is followed when we talk about
something in the past which is purely imaginary.

If + Simple Past, Subject + Would + V1 + Object.

In the case of imaginary sentences, 'were' is used with all
subjects irrespective of their number.

Example:

If I had wings, | would fly like a bird.

He shouted at me as if he were my coach.

Thus, in the fifth blank of the given cloze test, 'were' will
be used as the given clause of the sentence is
conditional/imaginary in nature.

Hence, the correct option is (B).

Ques 6. ANS (D) Solution:

This is the boy who scored the highest marks.

The most suitable pronoun for the given blank is 'who'. A
pronoun is a word that replaces a noun to avoid its
repetition.

A relative pronoun is one which is used to refer to nouns
mentioned previously, whether they are people, places,
things, animals, or ideas" (i.e. Who, whom, that, which,
etc.). Who should be used to refer to the subject of a
sentence.

For example: Jack is the one who wants to go

Ques 7. ANS (A) Solution:

Let us see the meaning:

Blame: responsibility for a fault or wrong

Praise: the expression of approval or admiration for
someone or something

From the given options, we can say that the word 'Praise
is the opposite in meaning.
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Ques 8. ANS (B) Solution:

The correct sentence is: They like the food in that
restaurant, therefore they go there very often.
‘Therefore' means for that reason; consequently.
Example: He was injured and therefore unable to play.
In the given sentence they like the food of a restaurant
as a result of which they go there very often.

Therefore, the most appropriate conjunction in the given
blank is 'therefore'.

Ques 9. ANS (A) Solution:

Correct sentence: Giving money to the poor is a/an
benevolent act of service to the poor.

Benevolent: kind and helpful, giving money or help to
people or organizations that need it.

According to the given sentence, giving money to the
poor is an act of charity. Therefore, we need a word
whose meaning is close to kind/helpful.

So, according to the context of the sentence,
'benevolent' fits appropriately in the given blank.

Ques 10. ANS (C) Solution:

Conscientious is the correctly spelt word.

Conscientious (adjective): Putting a lot of effort into your
work. For example: She was a conscientious worker, and
I'll miss her.

Ques 11. ANS (B) Solution:

Correct Sentence: The teacher complained against him
when she met his mother in the market.

We use in to talk about where something is in relation to
a larger area around it.

Example: She's in the garden.

We use against to refer to negative, hostile or opposing
reactions to situations, beliefs, people, events, etc.

The noun 'complaint’ is followed by the preposition
against.

Example: He filed a complaint against his school.

"On" is used to indicate position, usually indicating that
something is on top of something else.

Example: My journal is on the desk.

When we use the passive voice, we can use a phrase with
by to say who did the action.

Example: The new street was opened by the Mayor.
Ques 12. ANS (B) Solution:

The correct answer is:

My neighbour enquired, "How is your father?”

Since the neighbor is enquiring, the direct form will be a
question. The indirect form is in simple past tense as
indicated by 'was'. So, the direct form will be in the
simple present tense. 'Was' will be changed to 'is'. Also,
the first person pronoun (my) will be changed to second
person (your) in the direct form.

Ques 13. ANS (B) Solution:

The sentence says that even though the invitation to a
party said 'Black Tie optional’, the people at the party
looked very stylish and refined.

Elegant: Stylish and tasteful in appearance

Graceful: Being stylish and refined in appearance

E.g. Despite having injured herself badly during practice,
Serena played in a graceful manner.

Thus, it is clear that elegant and graceful are similar
terms.

Ques 14. ANS (B) Solution:

The sentence talks about how the hunters, while on their
journey, were scared of coming face to face with brutal
and dangerous tribespeople.

Savage: Ferocious and dangerous

Barbarian: Uncultured and brutish

E.g. For the longest time, people in America considered
the Native Americans to be barbarian people.

Thus, it is clear that savage and barbarian are similar
terms.

Ques 15. ANS (B) Solution:

The correct answer is:

'The jury gave the film ‘Andhaa Dhund’ an award.'

In the active form, the subject and the object will get
interchanged.

In the active form 'award' will become the object.

The passive form contains 'was' + past participle form of
verb so the active form will contain the past participle
form of the verb.

Option (A) is in past perfect tense.

Option (C) is grammatically incorrect. "Was gave' is
totally incorrect.

Option (D) is in future tense because the word 'will' is
used.

Ques 16. ANS (B) Solution:

Fear of closed spaces

Claustrophobia (noun): Fear of being in closed spaces.
For eample: He suffers from claustrophobia so he never
travels on underground trains.

Ques 17. ANS (B) Solution:

Voracious - wanting or devouring great quantities of
food or engaging in an activity with great eagerness or
enthusiasm.

satiable - satisfied

very bad - Significant or extreme in degree or intensity.
Unbearably or excruciatingly painful or torturous.
Stingy - mean; ungenerous.

Malicious - characterized by malice; intending or
intended to do harm.

So, the correct antoynm for ‘voracious' is 'satiable’.
Ques 18. ANS (C) Solution:

The correct sentence will be: "Each student will have to
carry his own lunch to the picnic."

In option (C), the preposition 'on' is incorrect and should
be replaced with 'to" as 'to' is used to refer to a
destination which is the picnic.

In option (A), 'each’ is correct as it refers to each and
every student.




In option (B), the pronoun 'his' is appropriately placed.
In option (D), 'will" is correct as it refers to an action in
the future.

Ques 19. ANS (A) Solution:

The sentence should be- The gas 'is seeping' out of the
rocks.

The sentence is in Present continuous tense.

A present continuous tense verb form is -- (Subject+
is+v1+ing+object)

Ques 20. ANS (D) Solution:

The given sentence is a type 3 conditional sentence
which talks about an unreal past condition and its
probable past result.

The formula is --if+ past perfect/main clause (would
have)--- perfect conditional.

The formula has been used correctly, so it does not need
any improvement.

Ques 21. ANS (B) Solution:

The meaning of the idiom "Be in the same boat" is 'To be
in the same difficult situation'.

Example: When he lost his job he did not feel too bad as,
after the company downsized, many others were in the
same boat.

Ques 22. ANS (C) Solution:

The meaning of the idiom "High on the hog" is 'To live in
a luxurious or costly way'.

Example: Since the time she won the State lottery she
has been on a spending spree as she now lives high on
the hog.

Ques 23. ANS (A) Solution:

Ques 24. ANS (D) Solution:

The first part of the sentence ends with a complete
sentence, which means that the next part must begin a
new sentence. The new part must begin with or contain
conjunction. 'That' is conjunction given by part P, which
means P is the first part of the answer. P ends with the
preposition 'despite’, which means it must be followed
by a noun or adjective (and its corresponding article).
Only Q begins with an article. So, PQ is the correct
sequence, as shown by option (D).

Ques 25. ANS (D) Solution:

Part R tells us what the ‘third’ is of so, it will come first.
Part Q will come next as part P is the ending part and
does not suits to join with ‘but” with which part R is
ending. Thus, the correct sequence is given by RQP.
Ques 26. ANS (C) Solution:

U fdhed &1 S B W

faen () —

18 x 2 =864 + 24

36 = 36

fawer (A) —

18 x 2 + 864 = 24

36 + 864 # 24

faeu (B) —

18 =2+ 864 + 24

18 # 24.002
fa®eg (D) —
18 + 2 = 864 - 24
20 # 840
Ques 27. ANS (A) Solution:
TET SIERYI faT 71 b 39 UHR ©:
S U R G E
+2
G | T W U
I RE,
L | G H T
+2
N K | J V

ST "LIGHT' Y I HTOT & NK1V forar s
Ques 28. ANS (D) Solution:
After folding, the paper will appear as:

______ 4
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]
]
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"
]
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"
“

....... -

Ques 29. ANS (D) Solution:
40R8W 10T 12P 16=2
or ?=40+ 8x10-12+16

or ?7=5x10-12+16

or ?7=66-12=54
40R8WI10T12P 16=?
g ?=40+ 8x10-12+1

g1 ?=5x10-12+16

gl ?=66-12=54

3d: fawed (D) TR B |
Ques 30. ANS (D) Solution:
T ]

Unmarried police officers who are not tall represented by
"S".

Ques 31. ANS (B) Solution:
8T SRR fopam T T #:

The pattern here followed is:




8 |8 |8
v v v
u Cc |
Ques 32. ANS (C) Solution:

fou U ST & o BH Q HH T 3IRY 39 UPR g,

é@'é—m% — Y (T8 YT ¢ A Py 7t 8)
%ﬁgég@aﬁqﬁ% — 3 (I8 THT § Afep i
e | ok 1| IR g B
U USGR, AT 1 37 11 SFTIR0T Rl g |
The least possible diagram for the given statements is as
follows,

Conclusions:

|. Some bad are stable. — False (It is possible but not
definite)

[Il. No bad are stable. — False (It is possible but not
definite)

Conclusions | and Il are complementary pair.

Thus, either | or Il follows.

Ques 33. ANS (D) Solution:

T STERI feba T ddb i UehR @

The logic followed here is:

20  faudia 7 +5 12

T G L
4 fagdia 23 +5 2
D W B
21 fagdid +5 11
U F K
11 _fAodia=:gl. 17 +4 21
K Q U
Ugd T 31&R Uh-gaR & fausid fRufa ara §

TR 3{&R B Uiad AT IR RIMIART HIdb R 3HER
T o T g |
fq@ed (D) WU BT SIIRT 76| BT 7

The first two letters are reverse positional of each other.

The 3rd letter is obtained by shifting the 2nd letter to 5
places.

Option (D) does not follow the pattern.

Ques 34. ANS (D) Solution:

faffed Ui &1 IuaT Fxd 91 g8 BT IR TR W

Preparing the family tree using the following symbols:

e 1 yrdies apef
O Higen
O] 7oy
— | TS
—_— HIE-aT
T i @1
TR
T THTfad 97 & 3RT I
A possible tree diagram will be:
Gitesh

daughter in law

guferg, wfgen o &t g g1

So, Girl is grand daughter of Gitesh.

Ques 35. ANS (C) Solution:

The mirror image of CHIVALRY is shown below:
B

CHIAVIBAFAYIVAIHD
v

Ques 36. ANS (B) Solution:
The mirror image will be as follows:

Wﬂﬁﬁﬁ%ﬁ"'ﬂ:

214 M S

8|6 a| 8

Ques 37. ANS (B) Solution:
Clearly, if we see the middle part in this figure we can
see the embedded figure inside it.

Wy ¥ 4, i 1 3 3MHd & 7L W H 3@d & o1 gH
WW%WWW%I

=)

Ques 38. ANS (B) Solution:

G AR A VA AT I @ 1 5 AR 4 Th g &b
fqudia B

Zgferg, AT 3 AT 6, 1 % faudid g




e 1 wa 1 g, o 39 Fafaied fRufa & g g
From the second and fourth positions, we see that 5 and
4 are opposite to each other.

Therefore, either 3 or 6 is opposite to 1.

If 1is at the bottom, we will end up in the following
situation:

Ques 39. ANS (B) Solution:

IR & I B HY Hgl ol ¢ | T TG, HE & g Bl
St et ST §

The baby of Lion is called Cub. Similarly, the baby of
Kangaroo is called Joey.

Ques 40. ANS (B) Solution:

The pattern follow is;

95=9°+5° =106

Similarly,

87 =8 +7°=113

Ques 41. ANS (A) Solution:

fogl &1 IRER Fga 3R BODMAS W &7 IuaiT dva

W,

fdped (A) — + 3R =

IRATID JHIBI g,
25+5x7-12+3=26

gl & IR dead |,
25+5%x7-12+3 =26
BODMAS 0¥ &1 IUTNT &1 |,
5x7-12+3=26
35-12 +3 =26

38-12 =126

26 = 26

fawau (B) — + 3R x

IRAdfdd JHIB g,
25+5%x7-12+3 =26

gl & R ¥ deaq |,
25x5+7-12+3 =26
BODMAS 0¥ T IUTNT 31 R,
25x5+7-4=26

125 +7 -4 =26

132 -4 =26

128 # 26

128, 26 B SRR T8l &
fdped (€) - - 3R +

IRAfdP JHIBR §,
25+5x7-12+3 =26
I8l P IR dea- W,
25+5x7+12-3=26
BODMAS 0¥ &1 IUTNT 31 W,
25+5x7/12-3 =26

25+ 35/12 # 26

25 + 35/12 - 3,26 P HM el &

fded (D) - + 3R -
IRAfID JHIB g,
25+5x7-12+3=26
gl & TRER geaq W,
25-5x7+12+3=26
BODMAS 0¥ &1 IUTNT &3 WX,
25-5x7+4=26
25-35+4 =26
29-35=126

-6 # 26

6,26 % SRR T8l &
Ques 42. ANS (B) Solution:

frafafed sl & Bysl ot e i axis 78 &

3HIeTY, Wl IR '8 B
Ques 43. ANS (D) Solution:
EIBT G@ﬁﬁ GC2 ﬁmﬁ 8-
gl TRAT3M DT R, U G331 19, 17, 13, 11, 7, 5 B
T g NITUBPRE :
The logic follows here is :-
Here the difference of numbers is squares of prime
numbers 19, 17,13, 11, 7, 5 is as follows:
1574 1213 924 755 634 585 960
| 11 11 il 11 i i)
(197 (177 (13 ()’ @ (©f
=361 =-289 =-169 =-121 =49 =25
Y UHR, gl 3T "585" B
Thus, the correct answer is "585".
Ques 44. ANS (B) Solution:
Tl Srgafkd fba M WEu R -
The pattern followed here is:

+2 +4 +8 +16

R

2 3 o 6 8 12 16 24 32

Lt 1 1

+3 +6 +12
3d;, "8" il Uq g
31d: fawe () T 81
Thus, "8" is the missing term.
Ques 45. ANS (A) Solution:
18Q12P 4R 55 6 = ?(fagr7an)

Yohd 95 & dlG;

18x12+4+5-6="7
18x3+5-6=7
0-6="7
7=53

Ques 46. ANS (A) Solution:




O 396! 9dqH 3 x B
r+15=4(x—15)
3x="T75

x = 25 HIcd

Ques 47. ANS (C) Solution:

V9 §H U Y ST e g, a1 88 1 o iy § ok 5w
T Ud oy o ot §gd 8, Y g 2 A firera §

ST {3 MG BT SFFH 2009 T TR B 3T 2T,

13 fgdsR 2010 - AHAR

13 fadsR 2011 - HTAaR

13 fE¥aR 2012 - AR (@Y TH)

13 f¢d®R 2013 - YhaR

3 13 fd¥aR 2014 - IHAR

Ques 48. ANS (A) Solution:

iii. Tea

ii. Tenant

i. Terrace

iv. Tomorrow

Ques 49. ANS (C) Solution:

The correct mirror image of the given figure when the
mirror is held at the right side is:

U 3fd 39 UHR ghft:

LR

Ques 50. ANS (C) Solution:
gl 3FIRUT T a1 ddh 59 TSR &

=5 BERA T G E

R E«& "V E Gl

ERIGRES
N AUGUHTY

U A NGY T H

ZfTT, 'NAUGHTY' &1 39 HTST H UANGYTH ferar smam|
Ques 51. ANS (B) Solution:

]%CITTR?IT%:

T 60 ot & Th 31 M BT a8 144 I S IR |
Tham & forg forgeman sirar g1

Mo &1 Bsar = R = 3 9#

TR P AT = h = 144 JA

31 T &1 dR H 9ad foar wrar g, 39,
M BT AT = dR BT 3d (RieeR)
%_WRS — wr’h

T - .
:,i,_x:><3><3><3:%><r2><144

cor =19, e =2r = 194t

Ques 52. ANS (D) Solution:
[(288)% + 24 x 36] = 18 = /7

= V7 = [(288)% = 24 x 36] = 18
= /7 = [82944 + 24 x 36] = 18

)

V7 = [3456 x 36] ~ 18
V7 = 124416 = 18

)

V7 = 6912
=7 = 69122

)

Ques 53. ANS (D) Solution:

Ques 54. ANS (D) Solution:

fear &:

q1d &1 T = 10 foedl/der

¢RI &I T = 5 fpHl/Her
mg%mwwmaﬁsﬁ?am&nﬁﬁmww
=4

g

YRT S UfdHd A = (A1 B 1) - (URT DI M)
YRT & I T = (A1 PI ) + (YRT D TR
@ = T1fd x gHg

YRT o Ufcigd Tt = (10 - 5) fadi/eer

= 5 fopHil/eeT

YRT & 3P d TMd = (10 + 5) fdbHi/der

= 15 Tl der

J
=i
I
.

=Xx=15

R P G 15 foedit grf |

Ques 55. ANS (A) Solution:

S e & SUANT &1 TS [adhR & AET = 160 Kg

Total Quantity of Ingredients used in June = (160+240
+ 300+235 +355 +475) Kg = 1765 Kg

dhR BT U = 160 X 100 / 1765 = 9.065 % = 9%
Ques 56. ANS (C) Solution:




feang:
(1+cosz)
(1—sinz)

(sinz + cosz — 1)> = Msin z

(1+cosz)
(1—sinz)

(sinz + cosz — 1)> = M sin™ z

(1+cosz)

= {iosmz) X 2(1—sinz)(1 —cosz) = Msin" z

= 2(1 + cosz)(1 — cos z) = Msin"
f/2(17€05 :r') Msin™z
= 2sin’z = Msin¥ z
QT Uil &) get b W, g U gl @ -
=>MN=(2x2)=4
Ques 57. ANS (C) Solution:
= 0.05 + 1.5 X 3 x 0.5 =?
= 0.05+ 1.5 x 5 x 0.5 =7?
= 0.05 + -2 =7
= 0.05+0.375 =7

=7 =0.425
Ques 58. ANS (A) Solution:
fa g, cosecf = 3z 3R cot 6 = 2

&l el o1 o
cosecd = 9z% ...(1)
\ﬁ?cotgﬂz% ...(2
() HIY(2) TeH S 915

— cosec?d — cot?0 = 9x% — %

=>1=9(z- %)

Il Tefl &1 o e W 2

>3 =9x3(- 2)
3=6(- %)

2

=

Ques 59. ANS (A) Solution:
Ugell 3R R} {5 & I o) sRIaR SUTd | fiyaman
STl B, gleTe 3T Hed

(1161145 _ Rs. 130.50 .

3k, 319 < fpel B ey e s Srar 7, foras
TP &1 ged 130.50 F=./fHUT. 3R 30 x &/fI. 2: 2 &Y
H foyemar S g,

g, 1:1

gH xJA BT S

— 130.25}1 — 153
= 130.5 + z = 306
= = 306 — 130.5 = 175.5F.

Ques 60. ANS (C) Solution:

fearg:

IId HHTTT [ Te3i (Fgd o H) BT 39 k g

A = Ho IRT/ddl DI AT

T AT AT [AYH IS a, a +2, a +4, a +6,a +8, a +

103a+ 12 gl

qEINR,

a+ta+2+a+4+a+6+a+8+a+10+a+12=kx

7

=7a+42 =7k

=a+6=k

sa=k-6

a7 3
(a+14+a+16+a+18+a+20)+(7a+42)

(7+4)

(11a+110)
11

—a-+}+ 10
ST d=k-6+10=k+ 4

Ques 61. ANS (A) Solution:
i AP 3R BP &% Odd U ga &1 Wi @ g,

Z/0AP = ZOBP = 90°

agds apBo o

Z/0OAP + Z0OBP + ZAPB + Z/BOA = 360°
= 90° 4 90° + 62° + ZBOA = 360°

= /BOA = 360° — 242° = 118°

(b g1 o G,

ZAQB LBOA

= /AQB = 11& —5¢°

Ques 62. ANS (A) Solution:
Ques 63. ANS (D) Solution:

fean gan,
WW@TW%@@?%WWWW 4:5
WiH IR FT = 30%

TR 3R §SHH W $d Je = 30%

ST o g1 I &,

ge = siford 7T - faspa g

W% = (Fe/3ifdhd Jeb) x 100

T wWieR 7 3iferd T 4x TUTR |
q9, S &1 3ifchd T 5x $UT I |




WIHT W Fe= 4x x (r) = 12 I0Y
AT SWIH R Fy TUY T |
VAT,
(182) +y = (4x+ 5%) x ()
>y = (%) - (1)
=y =3.5x
TEAR AT ge = [ 35) )% 100 = 1.5 20 = 30%
3id: f[dded (D) WL B 1
Ques 64. ANS (C) Solution:
UGV BYTAPAT H A, 90 51

PT? = AP? + AT?
= 102 = 62 + AT?
= AT? =100 — 36 = 64

= AT =+/64
= AT = 8 T
ST &1 gH S g,

AT = TR = 8 4l [3Hy-[y Wi
= TR = TB = 8 YHi [Ha-M§ Wil

Ques 65. ANS (A) Solution:
feare:

Te21 — 24/564¢8
U
(a+b)?=a?+b+2xaxb

21 — 24/54 DI A

= /(21 — 24/59)
fr‘\/(21—2x\/ﬁx\/§)
:>\/(18—|—3—2><\/E><\/§)

= [(VI8)?+ (V3) -2 x VIB x V3]
=4/ (V18 — /3)?

= V18— /3

=3v2-+/3

.21 — 2¢/54 BT A 3v/2 — /3B

Ques 66. ANS (C) Solution:

fear g-

gy P = 800 ¥ud
g A = 920 30
RO ST = A — P
SI = (920 — 800) 3ud
SI = 12039

_ 100xST
g R R = PxT

__ 100120
R= 800x3

R=5%

TENRr = (5+3)%
r=8%

T WIYRU[ TS [ = 800x8x3

100
I =192%9
41 fAgeT A’ = (800 + 192) ¥ud
A =9923W
Ques 67. ANS (C) Solution:
T <o, Q gRI AR Bl TS AR = ¢
40000: q=2:3

40000 _ 2

=5 =13

= ¢ = 40000 x 3
=. 60000

Ques 68. ANS (A) Solution:
ﬁqT‘TEIT%:

9] &1 fasha ged = 799.50 JUY
HHNT BC &R = 18% 3R 22%
9] 1T Jed = 1,000 SUY
B9 9Hd § fob:




TAAEE =z + y — (1o5)
T witford] T g &l 3ifdd Jed = a

paHd gea = 18 + 22 — (1223
= 36.04%
. = = — . ax36.04
.. B¢ & I g% @1 [dspd Jed = a — (55%™)
o (100a—36.04a)
100
__ 63.96a
100

. A% I {dshd Hed = 799.50 $UU

. 063.96a _ ~, =
. B _ 799.50

(799.5x100)
63.96

= a=1250

. T I 3ifehd Ted = 1,250 ¥UT

= 1250 — 1000

= 250310

Ques 69. ANS (C) Solution:
fam & e et aa-RraHt &1 afard faawo = 13%
A TS O H SfrEet aa-iTerem1 o1 Hiasid oo = 8%
farsit 3 et ae-iml @1 @ = 2000 F113%

= 2000 x {3

= a =

= 260
10% & 2 a1 Faml & 3t aep-imeml a1 TRl = 260 + 260 F110%

= 260 + 260 x 2o

26% P & 916 U US & MTecl adb- 13 & 9 = 160 — 160 31 25%
— 160 — 160 x 2
=160 — 40
=120
AT 7R Ue 05 <1 SMTse] aepe ! o doel S = 286 + 120
= 406
. 3ifly IR 406 31
Ques 70. ANS (B) Solution:
ETITTI'CIT%:
TP BT AT = TS FT A
TP B B = Srefia & B
OHI G ST SHals ¢
b TP 3R MM BT SMUR A Bl B, Ul P iR
e Bt B T gt 81
T b r T SR S &t = g
ST fob g9 o | o,

ST BT ST = %?T?"S

9
= %mﬁgh = ‘—“ﬁrr‘3
- h _ 2

T or 1
C.3UId 2 0 17

Ques 71. ANS (B) Solution:

ETITTTEIT%:

IO AR A H SR B dF 40 fhel/der ot ard § am
FRA1 g 3R 60 fHeil/Eer &t are o aroy 3M1dT g |
I R for T ot g 10 €62 7

ERERRSEE
I A1 = Hd /P IHT

AFT R x fp g
I A U IER B 0@ [l T 9Hy = £ §¢

40

ER B Y UGR A I feran T oy = &5 6

PAFHT = 104

= 1 e =10
— = 1w _

= I X 2__1(}—10
= z = 240 fouil

- A SR B & & &t gt 240 i g1
Ques 72. ANS (D) Solution:
TR A ¥ IR B aret 3nafifgl aiR srwiiof 89 arat
3Tl & dle BT 3R = (20 - 5) = 15
TR B F IUfRA §F a1 3naffat $iiR sriivl g9 ara
3Tl & &l BT SR = (25 - 10) = 15
TR C ¥ IufYd B I gl aiR srhiof e arat
3Tl & dl| BT 3R = (30 - 15) = 15
TR D ¥ IURYT B arat 3nafdfa 3R sritof €11 arar
3T 3 o BT SfaR = (20 - 10) = 10
T E Y IufRyd g aral 3naffal siR Sriiol g aral
3T o o BT SfeR = (35 - 20) = 15
SURYA BIF aTet il SiR g ara snafal &
& 1 YAdH 3R YR D B3|
The difference between the appeared candidates and
failed candidates from institute A = (20 - 05) =15
The difference between the appeared candidates and
failed candidates from institute B = (25 - 10) = 15
The difference between the appeared candidates and
failed candidates from institute C = (30 - 15) = 15
The difference between the appeared candidates and
failed candidates from institute D = (20 - 10) = 10
The difference between the appeared candidates and
failed candidates from institute E = (35 - 20) = 15
The minimum difference between the appeared
candidates and failed candidates is from institution D.
Ques 73. ANS (A) Solution:




WlxDl=W2x D2
Sbhx12=12x D2
= D2 =5feT

Ques 74. ANS (A) Solution:

feane:

CEIRE I i

AH b & 1

= Fieic U Ed BT WM = 100x FT25% = -2 x 100z = 257
= d= & U 29 TR = 100x — 25% = 75x

ary &, faeiHl o wd
= T & OTH 219 R = 75% - 15x = 60x
f&a1 711 €, 5= & U 29 U = 1080 Y = 60x

=x=18 300
T @1 9@ @d = 100x = 100 = 18 = 1800 ¥
~ T BT o T 1800 T 3
Ques 75. ANS (A) Solution:
T g 3R U B URFS A 59 5z dieX 3R 4z deR 7
5r+ 4z =18
= 0r =18
=r=2
QU P IRl BT = 5z = 5 x 2 = 10e®
U @1 dRdide JHF = 4z = 4 x 2 = § I

10+y

B 1
=10+y=14
= }':4?121—&'

Ques 76. ANS (B) Solution:

TR ANt snfeaTy & ArieRH # ST IR
FaRI & Uge fad § o= i 3if¥ar &1 74 =R
T BN 91T § 9k 9 RO F dg & wfaq et o
B | Tfgan die SfYeRY & FU | ST STl 81 X9 |
afgarsil &t YRem, THE 3R S Rar gRd s &
Hrer aift & =Peior & ey, Wy, T, At 3k
a1d faepr Afed fafte fawmTl & irTa il & ay
ifert <ifeai ag gifda s

Under the guidance of Chief Minister Yogi Adityanath, a
new phase of 'Mission Shakti' campaign is going to start
from the first day of the upcoming Sharadiya Navratri
and 'Shakti didis' will also be at the center of this phase.
Known as female beat officers. In line with CM Yogi's
vision of ensuring safety, respect and self-reliance of

women in the state, Shakti Didis along with local
personnel from various departments including health,
revenue, women and child development will ensure this.
Ques 77. ANS (A) Solution:

IR PR A feueieAd garsii o fore qerdst
SHTIH SH AISHT Pl HoRT ¢ &t 5. Foaeat e
FUR B AT T G5 Pbio-c 96P H 39 1ol &I &1

Sl feam o1 S forn T, 7 JERT fIURT 3 SBfee
& A Y UXATd @1 1. 39 ISi1 & dgd SRISTR
SRS Afgdl a1 Y BT 741 IYNT T & g 10
ARG D1 ¥UY i A Foredwht

Bihar government has approved '‘Mukhyamantri Minority
Entrepreneur Scheme' for minority youth. The decision to
give green signal to this scheme was taken in the cabinet
meeting chaired by Chief Minister Nitish Kumar. The
State Industries Department had presented this proposal
before the Cabinet. Under this scheme, an unemployed
minority woman or man will get an amount of Rs 10 lakh
for setting up a new industry.

Ques 78. ANS (A) Solution:

YR gt & dreft g oft gt s 81

HIc gt & Hurd ! gt & &9 & +f S S 3

g YRA H d wed 98t gt 31

7 995 8|

¥ I Sfdl YRUT & Bl § STR g HUNI I Well,
e, W e, 3RST 3R el o Wit & oy 3T g
Regur Soil is also known as Black Soil.

Black soil is also known as cotton soil and internationally
it is known as ‘Tropical Chernozems'.

This is the third-largest soil type in India.

The soil is rich in iron, lime, calcium, potash, magnesium,
and aluminium.

It has high water retaining capacity and is good for
Cotton Cultivation, Tobacco, Citrus fruits, Castor, and
linseed.

Ques 79. ANS (C) Solution:
agﬁ?%@aﬁn%w&ﬁaﬁwmﬁwﬁam
SIGIN

IR B, o8 Heit T Afgansi ot fay S wfaaifiar «f
fafis =i ot gt Afgen JefiieT A fewan ot €1 ugeht
IR SHDT ST 1956-1957 H oI a8l & SRTA WR fobsa
T 71 AR 1984 9§ I8 B &1 9N & SR W B A

Uber Cup is awarded for women in the sport of
Badminton.

The Uber Cup, sometimes referred to as the Women's
World Team Championship, is a major international
badminton competition contested by national women's
badminton teams from various countries. It was first
organized in 1956-1957 at an interval of three years.
Then from 1984 it started happening at an interval of
every two years.

Ques 80. ANS (A) Solution:




SfSTER YER Bl 'HRA I HaapT' ) gl Sl 5|

SR, BT SR AT 3o +f HgT S 5l

SIOTHR XTSRRI & He &3 H, IR Ui yRd # R 3
SRTTE TdTHTE ¥ FoRT 3SR W6R YT Id Ge-3a-¢H
el Y SR IR X8  foTT T Ui o |

Ajmer city is also known as the "Meeca of India".

Ajmer, is also called Ajmere or Ajmir.

Ajmer is located in Rajasthan's central region, in
northwestern India.

Surrounded by Aravali ranges, the city of Ajmer is most
famous for the Ajmer Sharif Dargah of Sufi saint Muin-
ud-din Chishti.

Ques 81. ANS (C) Solution:

TRRA 11 2023 H YRA Bt ARAFAT St 3 AR gL & 60
foo vl H 51 uee gIiia fova. a8t et § gt
BT 10 Hiex fived 1 RS Rig, o= Rigdian sik
RIaFRaTd) A ¢! WUl Uedh feam. URd onfl 9@ $d 6
wWuf Uge Sfid gH1 8. HRA &I EH T 1734-50x TR
fopar, S Ricar A d Sl dreil -1 E1H HRHR
1733-62x 1 Y1481, HIY UGH S 1H HIarall

T BIEH BT TR 1730-59% AT

India's Roshimina Devi won silver medal in the 60 kg
category of women's wushu in the Asian Games 2023. In
the same shooting, the men's 10 meter pistol team
(Sarabjot Singh, Arjun Singh Cheema and Shivanarwal)
won the gold medal for the country. India has won a
total of 6 gold medals so far. The Indian team scored
1734-50x, while the score of the silver medal winning
Chinese team was 1733-62x. At the same time, the score
of the Vietnam team, which won the bronze medal, was
1730-59x.

Ques 82. ANS (A) Solution:

fay fSH YueT W16+ gRT UHIRId Tdad SHAYH S0
(SIS 3Ms) 2023 It & HRA 7 132 Srfcaawirsii #
404 ¥ (GII 2023 ranking) SRR IWT § | TG AR
3@@ (Global Innovation Index) H URd ﬁ el T ol I
3T §¢ BT 8| TS IT 2015 H 813 R I Ighx 2023 |
403 RIT TR UEd T 8| 39 AT Aifd ST, I e
L3S iR 13y Mfgd Juar & Ay e H Fe
(Sg3eyta), 29 RdeR, 2023 P SHSMTSSHTS 2023 &
YR dl= P aG3Hd JoTaT! IR T |

India has retained the 40th rank (Gll 2023 ranking) out of
132 economies in the Global Innovation Index (Gll) 2023
ranking published by the World Intellectual Property
Organization. India has been progressing rapidly in the
Global Innovation Index for many years. It has increased
from 81st position in 2015 to 40th position in 2023. This
year NITI Aayog, in partnership with industry body ClI
and the World Intellectual Property Organization (WIPO),
is hosting the India launch of GIl 2023 virtually on
September 29, 2023.

Ques 83. ANS (D) Solution:

YR {3 1 9% 71 & forg 75 faaddia srded
YR HINT IH" T AT IR UG B ISy

TGS, H T o1 38T &, SriwH § usisft IR faoidr
3R It HReTg HTS1aft & Wiy 4 3 38 §. 98 e
31T 11 fGHaR db SIRY 7 Sl IRy dfiret i
ISRTTIH HRT BT o foaw +ft § 3R oy "y Hrem
feaw & =0 # +ff g o @

A 75-day program 'Bharatiya Bhasha Utsav' is being
organized in Lucknow, the capital of Uttar Pradesh, to
celebrate Indian languages. Padmashree awardees and
representatives of various Indian languages are
participating in the program. The festival will continue
from today till 11th December which is also the birth
anniversary of famous Tamil poet Subramaniam Bharathi
and is also celebrated as 'Indian Language Day'.

Ques 84. ANS (C) Solution:

YR 3R Ygad Y A "HR-Tgad 1§ & fafor gga-
(India-UN Capacity Building Initiative) TTH® Thagdd
&AT-FAT0 UAE &1 €. 3UBT 353 df¥yd cfemr
BYFER ¢RI AU URA HIAhT & ST DI HAT
7. $9 SRIHH HYRT & 9= 13t ST T8, Sagias ok
78al UN HETHHT dh3feral S iR HHmT forar.

India and the United Nations have launched a joint
capacity-building initiative called "India-UN Capacity
Building Initiative". It aims to share India's development
experiences with partner countries in the Global South.
In this program, India's Foreign Minister Dr. S. Jaishankar
and President of the 78th UN General Assembly Dennis
Francis participated.

Ques 85. ANS (B) Solution:

Y&, Y ARAEH I (THTHTHS) Hrenfier iR facia
fRRAI PlagH & I W, YR Y IINT fabr dF
(Rrsslh Ta UU-3neTRd 3a1sd BIRARNT A1 WichH'
TS W' (GST Sahay) Ti=d S-Sl & &. STD! TN
Rrse Fe AemsY® g Dresl Aud e

I T HERH B,

With an aim to enhance the economic and financial
sustainability of Micro, Small and Medium Enterprises
(MSMEs), Small Industries Development Bank of India
(SIDBI) is going to launch 'GST Sahay', an app-based
'invoice financing' loans platform. This was announced
by Rahul Priyadarshi, Chief General Manager, SIDBI,
during a customer outreach program.

Ques 86. ANS (C) Solution:

e T ¥R 3t ST A el d1¢ TR SNYUTR Herared
fihed "2018: Qﬂ?‘tﬂ%ﬂ?@?}f (2018: Everyone is a Hero)
DI 2024 T SHIGH GRIBR (31HY) & 7T URd Bt
TR Ut & =u & T1frd fsar 8. 2018 ugan Uit
A fhed g, fo 100 BRIS BT 3fh sl a4 oo UR
fobaT o1, 319 I8 fihed SPIGH REHR T YRA & Aga
HN. A U 3R Haeb! die i fveT 2018 |
3118 §1¢ TR 3MYTRd 8

The Film Federation of India has nominated the
Malayalam film "2018: Everyone is a Hero", based on the
Kerala floods, as India's official entry for the Academy
Awards (Oscars) in 2024. '2018'" is the first Malayalam




film to cross the Rs 100 crore mark and the fastest. Now
this film will lead India in the Academy Awards. The film
starring Tovino Thomas and Kunchacko Boban is based
on the 2018 floods

Ques 87. ANS (A) Solution:

TS B U I1 T WIS Ul U d9d15¢ IT Uh ISR Bl
RS a1 7T 39 O 7| fndt derge & URMA® gy &I
-t e gy o FET S B

A home page or a start page is the initial or main web
page of a website or a browser. The initial page of a
website is sometimes called main page as well.

Ques 88. ANS (A) Solution:

ARG SR H-3G&-aH U8 Bl al T8 IuTy ot | U
Tewe TTRI &1 A o, e I ot YR Tuf &1
_TSTUTd F1T | G feell & U SiU=T1 9= Jrard

R BT 3R ITR YR TR ool B fordT | 3 IR
M & HRUI, RETH dGD! 4 I ARG T8%T BT |

‘Lakh Baksh' was the title given to the Qutub-ud-din
aibak. Aibak was a slave of Muhammad Ghori, who made
him the Governor of his Indian possessions. He set up his
military headquarters near Delhi and captured the North
India. Due to his liberal donations, Muslim writers called
him Lakh Baksh.

Ques 89. ANS (C) Solution:

TREH o UIYUT &7 Teh Yo usia bR gidT g1

ARIEH &1 4ol g, S o Ut g 6t g
21 U8 BRI § % Ue g ok fafeq tid a1 ugy uerd
ARREH &1 U0l gidT § | AREH SRR, Mid, 79 3R Tid
§Gd AR H 55- 60 f$9 BRI & o9 dTaHH |
I 1 Mo, S SR f wRefid! § Fiifes 3 o ofia) O
3P Bl © SR I &wuﬁwwmﬁ%‘l
Mushroom has a saprophytic mode of nutrition.

The nourishment of Mushroom is saprophytic, which is
just like heterotrophic nutrition. This is the reason
organisms like mushrooms nourish on a dead and
decomposing plant or animal matter. Mushrooms prefer
shadowy, cool, moist, and wet growing environments.
They grow best in temperatures between 55- 60 degrees
Fahrenheit, faraway from drying, direct heat, and drafts.
Roundworms, leeches, and lice are parasites because
they survive in a further organism and obtain their
nutrition from them.

Ques 90. ANS (A) Solution:

Fic foot gSwT G1IdT &1 U 81 8 | I8 Higd Sies! &
NEREEEEE

&I 3500 £.7, - URMNS TS H1d- T§ TH WA a1
o § Sl Y el & ¢ R YT 51 TR B 7Ad BT §laR
9 e ST 81 U g7l § FRRT gan g

HigslGs! Ul & Rie Uid & eRepr1 foret # Riy e
% dc W RA 3| ﬁ%ﬁ@a@aﬁ@mﬂ&m?ﬁaﬂsﬁﬁ
1922 Wt ft 3R 3V 1980 T gt 1 fay favTod wa &
U H I fosar i o |

HigoiiGe! & 3 § 'Jddh! & Sal | Rd & MY AW
! et Ry & gd goul &1 e & FUH B |,
et & "gd gl &1 e & Fu H R Fi TS 7

Kot Diji forms a part of the Harappan Civilization. It is
nearest to Mohenjo-Daro.

Dated 3500 B.C - Early Harappan Period. It is an ancient
flood channel located on the bank of the Indus River,
consists of a stone rubble wall and surrounds a citadel.
Mohenjo-Daro lies on the bank of the Indus river in the
Larkana district of Sindh Province of Pakistan. It was
discovered by Mr. R D Banerji in 1922 and it was
designated as UNESCO's World heritage site in 1980.
Mohenjo-Daro does mean 'Mound of the dead'. The
modern name for the site has been interpreted as
"Mound of the Dead Men" in Sindh interpreted as
"Mound of the Dead Men" in Sindhi.

Ques 91. ANS (D) Solution:

TN 3t 1T RTS-@TS TTe G B AT gl

HETHT St &Y 3 YRdah:

HR 3T 1084

T P 301 el

Mahasweta Devi is the author of the book 'The Why-
Why Girl".

Other books by Mahasweta Devi :

Mother of 1084

The queen of Jhansi

Imaginary Maps

Rudali

Chotti Munda and his arrow.

Aranyer Adhikar

Titu Mir

Ques 92. ANS (C) Solution:

The episodic nature of the Earth's glacial and interglacial
periods within the present Ice Age (the last couple of
million years) have been caused primarily by cyclical
changes in the Earth's circumnavigation of the Sun.
Variations in the Earth's eccentricity, axial tilt, and
precession comprise the three dominant cycles,
collectively known as the Milankovitch Cycles. It is of
primary importance to explain that climate change, and
subsequent periods of glaciation, resulting from the
following three variables is not due to the total amount
of solar energy reaching Earth. The three Milankovitch
Cycles impact the seasonality and location of solar
energy around the Earth, thus impacting contrasts
between the seasons.

o feag (e oot &1 sifad gma) & iR gt &
ferTesTfed SR ofa:ThHu BT & TRfE® Upfa T
04 g & Pt & aRkay & 919 gRkadd & HRUgU B




g2t Bt fqqeordT, sieffa gavra 3R gdar # fiysar & o=
T 9% YA 1 8, e Irfes ®u ¥ feHaifaa
b & U B O o1l § | STearg uRdd $iR 3% a1g &
TGl & 91 BT Sfafy B AT BT WIUfS 78 @ &,
oo uRumRaEy Fafafad diF @R gl ur ugaa ardt
IR o1l B! G AT & BRUT el & | i He-pIad a5
T2t & ARY 3R TR SHolf o1 AgHt 3R R B g1faa
FA &, 39 UBR HIGH & o7 fauid yHma Sied & |
Ques 93. ANS (A) Solution:
3BU 3P et Bl HRD BlS! el & SR Hag &
TMaTferar ¢ Ha H 38 e &1 HRUT Wl SHiarer
! U 3iics der' & FY H ST 1l 5
SIS} & a1G 1958 H o faeel 1 GuH HETUR &1 3R
I5i T ST UHTRM T8 YR fobar AT
Aruna Asaf Ali is popularly known as the 'Grand Old
Lady' of the Independence movement because of the
hoisted flag at Gowalia Tank Maidan in Mumbai during
the Quit India Movement.
After independence, she became Delhi's first mayor in
1958 and started a media publishing house.
Ques 94. ANS (D) Solution:
YR HfAUT & d8d Tol It 4 Il F 10 W
forem uRwal & firg ga &l |
3y, B, HeTed 3R ISR 9 €1 3G 244 Bt
ST & ded Isul W ST &3 & TR § Iefid
8| iU qHT g1 UTRd I% AT fore ukve! (TS &
ng%mm@{&rrﬁmﬁ 3MTaTdl & HEBRT b1 &M Bl
[
Sixth schedule under the Indian Constitution provides for
10 Autonomous District Councils in 4 states.
The states are Assam, Tripura, Meghalaya and Mizoram.
Article 244 deals with the administration of tribal areas in
the states under the Sixth Schedule. Passed by the
Constituent Assembly, it protects the rights of the tribal
population through the formation of Autonomous
District Councils (ADCs).
Ques 95. ANS (B) Solution:
IR 99 A TH BT Hag e ST off F& TR
TUHTSAT 7 3G TR deb PR Hebell UTI R 1823 7,
IGi- 20-TRHAG &HT aTell Th STHTT A=A, fShd
2o & fSWE & T TR KT wHeH Ured foban| SfeR g
T fSfoTee SUhRUT UT: Ug R+t |z & ool Srdd
3fopT TR TFTferd BYal T, SR 3fch GG (0-9) &, St
8 it (“faeg) & a9 gideR ufedl W fRufd gr
3T T | 99 GidaR Ufedl & 9 T 91 9 Y § daa
T, I 39N STAT UedT 3 ddhr U R IR W d
Tl
Charles Babbage made a small calculator that could
perform certain mathematical computations to eight
decimals. Then in 1823, he obtained government support
for the design of a projected machine, the Difference
Engine, with a 20-decimal capacity. The Difference
Engine was a digital device: it operated on discrete digits
rather than smooth quantities, and the digits were

decimal (0-9), represented by positions on toothed
wheels rather than binary digits ("bits”). When one of the
toothed wheels turned from nine to zero, it caused the
next wheel to advance one position, carrying the digit.
Ques 96. ANS (A) Solution:

3 31U, 2023 P! fgHTET UG IoY 7 A Ugsl T
iff & e o fean B

On April 3, 2023, the state of Himachal Pradesh has
repealed the ‘Loktantra Prahari Samman Act.

Ques 97. ANS (A) Solution:

YR Roid s (RBI) 7 o8 fRUT TePR 8 g Huld
®I-3TRfeq §& fofies (The Kapol Co-operative Bank
Limited) BT AT3YY Y& B o 8. SReTSME 3 aarar f&
d% % U T Yol ATel § 3R FHHTS BT Wy off e
& F9 Rl ug Al femn mar B, sReftens = 3 samn
% U ST STHT oA 3R hige R Ry
SrmEici) T 25 ara Pt Aifees T dw g S
TR BT STAT STHT graT IR U hR Johell ©.

The Reserve Bank of India (RBI) has canceled the license
of Mumbai-based co-operative bank The Kapol Co-
operative Bank Limited. RBI said that the bank does not
have sufficient capital and there is no earning potential,
due to which this decision has been taken. RBI further
informed that every depositor can obtain deposit
insurance claim amount of his deposits up to a monetary
limit of %5 lakh from the Deposit Insurance and Credit
Guarantee Corporation (DICGC).

Ques 98. ANS (A) Solution:

fereehT Sitel U @R UM &1 7 8, S WRA & S I
% U1, T SR o forell & Sl g% 21 T8 urken &1

T §ST WR U 6T A g 3R Tt gan g

Chilika Lake is a brackish water lagoon, spread over the
Puri, Khurda and Ganjam districts of Odisha state of
India. It is the largest brackish water lagoon in Asia and
stretches.

Ques 99. ANS (D) Solution:

Oa fAHh I qaHI® (TIST3MS) Sita- TR, fRIem (@erar
&R, fafld TRl R G AR 3UTd) 3R ufd fdd
3T b deh! o1 Uh THY T JIHIP §, S 3= Bl AF
fIHTT & TR TR T ¥ B & e U forar oirar g
T X Udh 3 TSNS THR Rl § O siaapra
31 el §, TR1ef &1 &R 34fereb g1 &, 3R ufa safad
Thd AP 31T Sfeems (dididh) sifere giedt 71
IR ¥ Ay e &l H Xg ardl ATl &l ggat
T ¥ ¢ | SUTE RIS Tea THY SHTETE! & Ardes
e AT & TR b1 ufaffeid o) Tl 3, a1 T8 ST R
&1 Ufaffera R T § o W W8t ouTd ¢ @1 8|
The Human Development Index(HDI) is a statistic
composite index of life expectancy, education (literacy
rate, gross enrollment ratio at different levels and net
attendance ratio), and per capita income indicators,
which are used to rank countries into four tiers of human
development. A country scores a higher HDI when the




lifespan is higher, the education level is higher, and the
gross national income GNI(PPP) per capita is higher.
Urbanization refers to the increasing number of people
that live in urban areas. So the term urbanization can
represent the level of urban development relative to the
overall population, or it can represent the rate at which
the urban proportion is increasing.

Ques 100. ANS (D) Solution:

TMYTe $WT TRgc WMa! fae uRve & Y 3|

J YRd H Ugdl IR e urufie Riem & v 7gH
Aft & Fu d Ay 3

SR, St &, TREa A iR ¥ SIS 9ew & fod &
U H 16 A 1911 BT URYe H Uep il fadaes 0w |

Gopal Krishna Gokhale was a member of the Imperial
Legislative Council.

He was popularly famous as a great champion of
compulsory primary education for the first time in India.
Therefore, GK. Gokhale again introduced a Private Bill in
the Council on 16th March 1911 in the form of an
unofficial member's bill.




